Parts Catalog

ASTH

Mounted Tubular ChieseL Plow /@K(@/ Ba'dan







Parts Catalog

" Index
Y Iz TR 4
=710 g =T 5
SUDSOIICE SNANK.......ooeveveeeeeeeteeeeeeeeeteeteeteeeteeteseeseetestesse e esessessesesssssesesssssssesessssessessessssenes 5
SEICKEI'S veveeveeeereereeveeerietestesteeeseeseste e ess s et e s e s ase e essass s e e s asese s essasasessessasesensessasensensessans 6
NUMERIAL INDEX .....cciiitieerinencsnnesnncsnncsnnesanessssssssssssssssssssssasssasssasssssssssssssssssssssssssssssassnns 7

ASTH19312-11/2012 n



Parts Catalog

« ASTH

*[tems 7,8 e 12 - See page 5

ASTH19312

Item

Code

Product description

All

ASTH 05 Shanks

ASTH 07 Shanks

ASTH 09 Shanks

ASTH 11 Shanks

A W= ma s

*
N R

5022030023-1
5022030024-0
5022030025-8
5022030026-6
5022030027-4
5530130031-9
5024010088-3
5432120021-7
5432120108-6
6020390308-4
5498030071-7
5498030072-5
6020010414-8
6020310770-9
6020311096-3
5326010009-9

Complete Main Frame Asth-03 Shanks

Complete Main Frame Asth-05 Shanks

Complete Main Frame Asth-07 Shanks

Complete Main Frame Asth-09 Shanks

Complete Main Frame Asth-11 Shanks

Support

Smooth Washer @30 X #66,5 X 4,75Mm(Galvanised)

French Head Pin @1" X 105Mm

French Head Pin @28 X 105Mm

Lock Nma - Type "R" @4,5 X 80Mm (455)

Complete Right Depth Wheel

Complete Left Depth Wheel

Pressure Washer 3/4" Media Industry (Bichromated)

Hexagonal Nut 3/4" 10F Unc Gr5 Ch.1.7/32" Alt.18,50Mm (Bichromated)
Hexagonal Head Bolt 3/4" X 2.1/2" 10F Unc1A Gr5 Rp (Bichromated)
Complete Subsoiler Shank

SO N S N N

— | ASTH 03 Shanks

"




Parts Catalog

° Depth Wheel E Code Product description =
1 |5326030055-1 | Wheel Right Support 1
1 |5326030056-0 | Wheel Left Support 1
2 |5352070007-9 | Depth Wheel Scraper 1
3 1 5498030073-3 | Spare Depth Control Wheel 1
4 |5558080009-1 | Lock W/Small Hole 1
5 15558080010-5 | Lock W/Large Hole 1
6 | 6020010406-7 | Pressure Washer 3/8" Media Industry (Bichromated) 1
7 1 6020010410-5 | Pressure Washer 1/2" Media Industry (Bichromated) 1
8 |6020130100-1 | Grease Fitting 1/4" Straight Unf - 28F H.14Mm Hex. 5/16" 1
9 16020310026-7 | Hexagonal Head Bolt 3/8" X 1.1/4" 16F Unc1A Gr5 Rt (Bichromated) 1
10 | 6020310754-7 | Hexagonal Nut 1/2" 12F W Gr5 Ch.7/8" Alt.12,00Mm (Bichromated) 1
11 |6020311053-0 | Hexagonal Head Bolt 1/2" X 1.3/4" 12F W Gr2 Rp (Bichromated) 1
12 |6020350022-2 | Bearing 6207-Z 2
13 | 5024010068-9 | Smooth Washer @13,3 X #35,5 X 3,00Mm 2
£ s e =
2 Code Product description =
1 [5326010008-0 | Subsoiler Shank 1
2 |5054010003-6 K Sweep Of Subsoiler Shank (76 X 11Mm) 1
3 |5530070007-0 | Subsoiler Shank Support 1
4 16010600823-2 | Support Union Plate 1
5 |5432010203-3 | Flat Pin @14,28 X 90Mm 1
6 | 6020010410-5 | Pressure Washer 1/2" Media Industry (Bichromated) 3
7 16020050104-0 | Cotterpin 3/16" X 1" (White Galvanised) 2
8 1 6020310232-4 | Plow Screw Type A3 1/2" X 1.3/4" 12F Gr2 Rp (Bichromated) 3
9 |6020310456-4 | Self-Locking Nut With Nylon Upper 7/8" 9F Unc Gr5 Ch.1.5/16" H.25,00Mm 1
10 |6020311120-0 | Hexagonal Head Bolt 7/8" X 4.1/2" 9F Unc1A Gr5 Rp (Bichromated) 1
11 |6020310754-7 | Hexagonal Nut 1/2" 12F W Gr5 Ch.7/8" Alt.12,00Mm (Bichromated) 3
12 |6020310770-9 | Hexagonal Nut 3/4" 10F Unc Gr5 Ch.1.7/32" Alt.18,50Mm (Bichromated) 5
13 16020311109-9 | Hexagonal Head Bolt 3/4" X 7.1/2" 10F Unc1A Gr5 Rp (Bichromated) 5
14 |6020010414-8 | Pressure Washer 3/4" Media Industry (Bichromated) 5

ASTH19312 “



Parts Catalog

¢ StICke rs E Code Product description =
1 |6020070886-8 | Sticker Lubricate And Retighten (58 X 195Mm) 1
2 16020071020-0 | Sticker For Asth Baldan 2
3 160200710269 | Sticker Brazilian Company (48 X 60Mm) 1
4 16020071027-7 | Sticker Iso Certificate 9001-2008 (48 X 60Mm) 1
5 15206010317-8 | Sticker "Ok" Approved Quality Control 1

>

A ATENGAO ‘ A CAUTION |AATENc|0N

Baldan

LUBRIFIQUE O LUBRICATE LUBRIQUE EL
IMPLEMENTC THE ENGINE EQUIPC ¥ APRIETE
E APERTES OS AND TIGHTEN LOS TORNILLOS E
PARAFUSOS THE BOLTS DAILY DIARIAMENTE mp esa 90071:2008
DIARIAMENTE 2
S i Brasileira
[tem 3 [tem 4 ltem 5
Item 1 ltem 2

ASTH19312 n




Parts Catalog

» Numerial Index

Code Page | Item
5022030023-1 1
50220300240
5022030025-8
5022030026-6
5022030027-4
5024010068-9
5024010088-3
5054010003-6
5206010317-8
5326010008-0
5326010009-9
5326030055-1
5326030056-0
5352070007-9
5432010203-3
5432120021-7
5432120108-6
5498030071-7
5498030072-5
5498030073-3
5530070007-0
5530130031-9
5558080009-1
5558080010-5
6010600823-2
6020010406-7
6020010410-5
6020010410-5
6020010414-8
6020010414-8
6020050104-0
6020070886-8
6020071020-0
6020071026-9
6020071027-7
6020130100-1
6020310026-7
6020310232-4
6020310456-4

_
w

*

m-th—l—\:;—lUﬂNw

*

*
o N

OOV AWNNETOOANORULAEANWW

AU pspUuUuppUuUVUUUUOO OO OOCVTULIAUVULLMULULUULUAB UL DD DUV ULULLBBUOULIDDUDED DD

6020310754-7 10
6020310754-7 1
6020310770-9 10
6020310770-9 12
6020311053-0 1
6020311096-3 1
6020311109-9 13
6020311120-0 10
6020350022-2 12
6020390308-4 6

ASTH19312









Baldan Implementos Agricolas S/A.

Avenida Baldan, 1500 | Nova Mat3o
CEP: 15993-000 | Mat&o/SP. | Brasil
Tel.: +55 (16) 3221-6500 | Fax: (16) 3382-6500
www.baldan.com.br
sac@baldan.com.br | export@baldan.com.br



	Index
	ASTH
	Depth Wheel
	Subsoiler Shank
	Stickers

	Numerial Index

